REDROCK

LIMB RISERKIT

(2018-2024+ WRANGLER JL)
(2020-2024+ GLADIATOR JT)

INSTALLATION INSTRUCTIONS

CONTENTS TOOLS REQUIRED
(2) Limb Riser Cables 10mm Socket/Wrench
(2) Adjusters 13mm Socket/Wrench
(2) Lower Mounting Brackets Ratchet
(2) Upper Mounting Brackets 5mm Allen Key/Socket
(2) M8x1.25 x 20mm Tapered Bolts Drill & Drill Bits
(2) M8 Flat Washers Rivet Gun
(2) M8 Lock Nuts
(6) Rivets
SKU # J213289

Edited: 07/01/2024



REDROCK

STEP1

Open the vehicle hood, remove (2) 10mm nuts. Then, remove the upper catch from the hood.

STEP 2

Fit the lower limb riser bracket to the hood latch, and secure the bracket & hood latch assembly to
the hood reusing the original (2) 10mm nuts.



REDROCK

STEP 3

Test fit the upper mounting brackets to the vehicle A-Pillar between the windshield and the door.
Using a marker, mark the desired mounting hole location on the vehicle. Then, using an appropri-
ate drill bit, drill the holes and install the bracket to the vehicle using the included (3) rivets.

STEP 4

Secure the top of the limb riser cable to the upper mounting bracket using (1) M8 bolt, (1) M8 flat
washer, and (1) M8 lock nut.



REDROCK

STEP S

Fit the adjuster assembly to the previously mounted cable and the hood mounting bracket using
the attached pins & clips. Spin the center of the adjuster to add/remove tension from the limb
riser assembly. Once tightened to the desired tension, turn the jam nuts to lock the tension
position.

STEP 6

Repeat steps 1-5 for the opposite side of the vehicle.

Installation is now complete.



	J213289 - RedRock - Limb Riser Kit (18+ JL JT)-01
	J213289 - RedRock - Limb Riser Kit (18+ JL JT)-02
	J213289 - RedRock - Limb Riser Kit (18+ JL JT)-03
	J213289 - RedRock - Limb Riser Kit (18+ JL JT)-04

